Y —LADXYESTEE B

EFRESG

Ny F BL16XU BL16B2

Bk s HUBER 8 HUBER 6
20, ®, %, ¢
. 20, o, 1, ¢
I TFIAF—: 208, 0a

XY AT — RXRYyAT— /IMUXYRXRY AT —7 |
THF A f—?~2)ﬂ\Sm197+§4$—ﬁﬁiﬁﬁﬁiﬁﬁ%%%
Nalﬁéﬂj . YAPHE 25

/ j :’BL16U \

su5304(mlfrﬁjjﬁﬁ)o>5§%’rs ,EHE

ol 50keV e |
g s e
; £ . g by
,a ; g LEE] 0.90
: 8 ; i g 10
M ; 10 192 194 1.4 .
E 7 Fe(422)n:—90>wﬁzﬂ':rw:kéﬂh(lokev) 7 -Fe(422)E— ’waﬁiﬂﬂ *5/7|~<50‘<SV>
-ni? 187 . (2‘9 ) 34 okev ]
| M i 10keV w——o 50121 5.0keV 11
T K = -825.2MPa/deg . S — 1
E:: II.'.-o-:AIAMPa T ]
7 % 1154 T K =-7647MPa/deg . ]
3 v \ . - :::‘ | -0 =255MPa 1
f }ig‘]’ﬁ 2 e (deg) : A : F.: i ; ; 0.0 [T [ [T o 1.0 e 02 04 o8 o8 1
26 smzz//ﬁ@(mkev) 26 snnzwﬁ@(SOkeV)
? ~ s a . i e - .
ﬁHBbQFEHEEHEO)%L( - ﬂ?’:]— 777 ) ﬁ**ﬁ' A g ¥ éj‘im@yf%ﬁ:\ﬁﬁ**ﬁ‘
Eﬂ.’,%LEDG)m planelﬁl?ﬁ AE §iise ~Ce02¥ﬁ5E0)nI*)bﬂF IEI?E(lOOkeV)
Y Y 500
400 |-
7 —
e 2 300 |
2 &
z 2
5 2
S é 200 |-
100 |
0 1 2 3 s 5
0 5 10 15 20 25
20 (deg.)

\\ S BETOEEEOMERN /\\ J*mﬁm% Fﬁgﬁ /




